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Fiche de révision — Trigonométrie

Cercle trigonométrique

Symétrie, périodicité.

• cos(θ + 2π) = cos(θ) sin(θ + 2π) = sin(θ)

• cos(−θ) = cos(θ) sin(−θ) = − sin(θ)

• cos(θ + π) = − cos(θ) sin(θ + π) = − sin(θ)

• cos
(π
2
− θ

)
= sin(θ) sin

(π
2
− θ

)
= cos(θ)

Tangente

• Dtan =
⋃
k∈Z

]
kπ − π

2
; kπ +

π

2

[

• tan(x) =
sin(x)

cos(x)

• ∀θ ∈ Dtan, tan(−θ) = − tan(θ)

• ∀θ ∈ Dtan, tan(θ + π) = tan(θ)

• ∀θ ∈ Dtan et si tan(θ) ̸= 0,

tan
(π
2
− θ

)
=

1

tan(θ)

Valeurs remarquables

Formules
• cos2(θ) + sin2(θ) = 1.
• cos(α+ β) = cos(α) cos(β)− sin(α) sin(β)

• sin(α+ β) = sin(α) cos(β) + cos(α) sin(β)

• sin(2θ) = 2 sin(θ) cos(θ)

• cos(2θ) = cos2(θ)− sin2(θ)

• cos(2θ) = 2 cos2(θ)− 1

• cos(2θ) = 1− 2 sin2(θ)

Equations
• Pour tout (θ, θ′) ∈ R2,

cos(θ) = cos(θ′) ⇐⇒ ∃k ∈ Z :

 θ = θ′ + 2kπ
ou

θ = −θ′ + 2kπ

sin(θ) = sin(θ′) ⇐⇒ ∃k ∈ Z :

 θ = θ′ + 2kπ
ou

θ = π − θ′ + 2kπ

• Pour tout (θ, θ′) ∈ (Dtan)
2,

tan(θ) = tan(θ′) ⇐⇒ ∃k ∈ Z : θ = θ′ + kπ

Arctangente, arccosinus et arcsinus.
• Pour x ∈ [−1, 1] et θ ∈ R,

θ = arcsin(x) ⇐⇒ θ ∈ [−π/2;π/2], sin(θ) = x

θ = arccos(x) ⇐⇒ θ ∈ [0;π], cos(θ) = x.

• Pour x ∈ R et θ ∈ R,

θ = arctan(x) ⇐⇒ θ ∈]− π/2;π/2[, tan(θ) = x


